AREA BOSCHIVA 4
Stot = 9.700 mg

di cui

Sallagabile = 5.600 mq

AREA BOSCHIVA ESISTENTE
§ Stot = 3.000 mg__

di cui

Sallagabile = 2.400 mq

&7 e\ 5 ; ; 35 PR AREA BOSCHIVA 3

rv | : prsy 3 SO Stot = 7.500 mg

) AREA BOSCHIVA 6
Stot = 2.300 mq

[ESISTENTE : TR - . { : : AREA BOSCHIVA ESISTENTE

Stot = 1.700 mq AN - ! : ‘ Stot = 12.500 mg_
: , di cui
Sallagabile = 6.200 mq

AREA BOSCHIVA2
Stot = 2.500 mq
di cui

Sallagabile = 1.500 mq AREA BOSCHIVA 7

Stot = 7.800 mq

AREA BOSCHIVA ESISTENTE
Stot = 12.500 mc
di cui
Sallagabile = 7.700 mq
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